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Note : — Answers may be written either in English or in Hindi; but the same medium should

be used throughout the paper.
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Attempt All questions.
All questions carry equal marks.
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1. (a) “Relationship in industry chiefly exists between the workers and the management.” Exblore

the various dimensions of this relationship within the framework of IR System and explain

how this relationship is created, modified and sustained. 15
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() What do you mean by industrial relations and explain in brief its scope and
determinants. 15
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(@) “Curative machineries are more effective than Preventive machineries in IR System.”

Explain the statement with reference to industrial disputes describing the methods of
settlement available for the purpose. 15
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(b) “Adjudication and arbitration are two wonderful mechanisms that provide equity, justice,
freedom and flexibility to dispute settling machinery.” Explain.
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(@) *Collective bargaining is a part and parcel of dispute settlement machinery.”

Explain. | 15
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(b) “Collective bargaining is very helpful in prevention of industrial disputes.” Explain. 15
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(@) “Trade union is the backbone of industrial disputes system.” Explain. 15
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(b) “Trade unions are faced with myriads of problems in India.” Explain the statement with

suggestions that would help unions to overcome the situation. 15
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(@) What do you mean by workers’ participation in management ? Explain its role

in IR. 15
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(b) Write short notes on any three of the following :
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Pré-conditions for good IR

Collective bargaining V. Joint consultation
Recognition of trade union

Workmen

Industry

National tribunal.
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